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H3K9me3_02_Larvae_L1.stage —
H3K9me3_01_Embryos_16.20.hr = -
H3K9me3_01 Embryos_12.16.hr = |
H3K9ac_03_Pupae - - -
H3K9ac_02_Larvae_L3.stage —
H3K9ac_02_Larvae_L1.stage -
H3K9ac_01_Embryos_4.8.hr 5
H3K9ac_01_Embryos_20.24.hr —
H3K9ac_01_Embryos_16.20.hr =
H3K9ac_01_Embryos_0.4.hr 5
H3K4me3_04_Adult_ Male -
H3K4me3_04_ Adult_Female —
H3K4me3_03_Pupae_- -
H3K4me3_02_Larvae_L2.stage —
H3K4me3_02_Larvae_L1.stage —
H3K4me3_01_Embryos_4.8.hr -
H3K4me3_01_Embryos_16.20.hr =
H3K4mel 04_Adult Male -
H3K4mel _02_Larvae_L3.stage =
H3K4mel_02_Larvae_ L2.stage =
H3K4mel_01_Embryos_4.8.hr =
H3K4mel_01_Embryos_16.20.hr —
H3K4mel _01_Embryos_0.4.hr = -
H3K27me3_04 Adult Male 5 |
H3K27me3_03 Pupae — - |
H3K27me3_02 Larvae L3.stage = |
H3K27me3_02_Larvae_L2.stage = -
H3K27me3_02_Larvae_L1.stage = -
H3K27me3_01_Embryos_4.8.hr = |
H3K27me3_01_Embryos _0.4.hr = -
H3K27ac_04_Adult_Male —
H3K27ac_04_Adult_Female —
H3K27ac_02_Larvae_L2.stage -
H3K27ac_02_Larvae_L1.stage -
H3K27ac_01_Embryos_4.8.hr —
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log1l0(max(peak))



